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Ex 10

January 11, 2023

[48] : import numpy as np
import matplotlib.pyplot as plt
from numpy import pi, sin, cos
import matplotlib as mpl
mpl.rcParams['figure.dpi'] = 300

omega = 1
R=1
t_max = pi / omega

t = np.linspace(0, t_max, 100)

sin(omega*t)*(2/pi*R*omega*t - R )
cos (omega*t) *(2/pi*R*omega*t - R )

X

y-

(omega*cos (omega*t)*(2/pi*R*omega*t - R ) + sin(omegax*t)*2/pi*R*omega) * 0.0001
(-omega*sin(omega*t)*(2/pi*R*omega*t - R ) + cos(omega*t)*2/pi*R*omega) * 0.0001

y = 2/pi*R*omega*t - R
t*0

X

plt.plot(x,y, color="black", label="$r\\left(t\\right)$")
plt.plot(x_,y_, color="forestgreen", label="$r'\\left(t\\right)$")
plt.legend ()

plt.xlabel("$x$ fir $r$ und $x'$ fir $r's$")

plt.ylabel("$y$ fir $r$ und $y'$ fir $r's$")

# Ab hier nur Code fur Pfeile
numarrows = 10
[plt.arrow(
sin(omega*i)*(2/pi*R*omega*i - R ),
cos(omega*i)*(2/pi*R*omega*i - R ),
(omega*cos (omega*i)*(2/pi*R*omega*i - R ) + sin(omega*i)*2/pi*R*omega) * 0.
0001,
(-omega*sin(omegax*i)*(2/pi*R*xomega*i - R ) + cos(omegax*i)*2/pi*R*omega) * 0.
0001,
overhang=0, head_width=0.02, color="forestgreen")



[ ]1:

for i in np.linspace(0, t_max-0.1, numarrows)]

[plt.arrow(0, 2/pi*R*omega*i - R, 0, 0.0001, overhang=0, head_width=0.02,,
wcolor="black") for i in np.linspace(0, t_max-0.1, numarrows)]
None
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